LAZY USER MODEL:

SOLUTION SELECTION AND DISCUSSION
ABOUT SWITCHING COSTS
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e Lazy User Model
e Learning issues & Switching costs

* Conclusions & some implications to
design
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The model tries to explain selection of solutions =
technology adoption

Focus on the user need and user characteristics, not
only on the technology characteristics

Focus on the effort needed from the user (in €, £, S;
time; activity)

Focus on putting many solutions on the same line
(e.g., competing technologies)

Usable in enhancing our understanding about the
chances of market penetration of new products & in
the design of new products (solutions)

Focus on effect of learning to the effort needed
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The Lazy User Model of
Solution Selection
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explaining IT adoption
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€ £ S, Time, Effort Uslpr has selected a solution (technology)
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Gain of each
repeated use

Gain over old
solution

How many times
must | use the new
solution to justify the
cost of learning?

= Trade-off between
cost of learning & the
expected benefit
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- An investment in learning a solution makes the
cost of repeated use lower (economies of scale)

-Learning is a sunk investment that is also a barrier of
entry; new competing solutions must be so much better
that they justify ex-ante a new investment in learning, i.e.,
the faster the investment is “paid back”, in the form of the
lower effort of use, the better

- The size of the learning investment comes from the learnability
of the solution (how easy is it to learn [to use]) and from the
portability of the knowledge needed (transferrability)

-The barrier of entry is affected by memorability (how easy
is it to remember how to use), if low memorability => low barrier

Cost of learning
(for example)

Transferrability implication:
Design new solutions so that users can

of entry
Likelihood to
choose solution

use their previous knowledge
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e Designin a way that:

— users can use existing (previous) knowledge to use,
or to learn to use, a new artifact (knowledge
portability - transferability)

e eg. 1. New car: “the user doesn’t need to learn
how to use a new car, even though steering
controls might look different”

e eg. 2. Mobile phone: “key mapping - and related
functionality - is fairly standard and doesn’t need
to be learned, although keys might look and feel
different”.

Turun yliopisto
University of Turku



CI\M IJ f" I V\
So0MmMe Ge glllp

r-'l-
:S
(¥

e Designin a way that:

— users can use the product WITHOUT any actual
learning effort (learnability very high, memorability
issues do not come into play)

eg. 1 Simplistic design philosophy: include only the
minimal number of functions (buttons etc.)

eg. 2 “Neanc” Nn denictec thao action so W lall
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1at it
is easy to understand wha the action does just by
looking at the icon (eg. using thumbnail photos of

people in a phone directory)
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iPad: "no-learning cost revolution”: a two-year old using the iPad with his dad
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Final thoughts / Takeaway message

There is a clear relationship between learning effects
and switching costs

Switching from one solution to another is “the same”
as selecting a new solution

The Lazy User Model can be used to understand (and
perhaps even quantify) some of the elements that
contribute to switching

It is possible to illustrate the effect of learning in a
visual and intuitive way that is compatible with the
previous research connecting learning with switching
costs

Learning as a sunk cost has implications on how
solutions should be designed
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Thank You!

Questions? Comments?

mikael.collan@gmail.com
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franck.tetard@abo.fi

Turun yliopisto
University of Turku



